3B 45 =

H6(2024)4F
FEER BIEH
AR T iE A
n
2l H
al 7 A TRE2#5(14:30) G g{m X
713 1-2FR#3E 3BRKIG 12:00~ [ 15:30~] X
5k —WOER A AEREIARE #e | w8 | X
[ ES #®e | ®8 | X
714 [E] il A [1530~] X
8|+ FHREFA #a | #A
9|H FHREFA #B | ®A
O[A |am| ey o ipobe Ak oo | T |
51 BS BERIER 2 (AM) 12:30~ | 15:30~| X
12pk FRTAZ YR 12:30~ | 15:30~| X
13k BIFER EEIRZE ~14:00| ~12:00] X
14]4 FRIAZ YR O
15[+ MAEREISRGAR HIERXIEEE)
i IE
T[] |aRE#E A BREE L2RSHENE~18H] Rl e
18]k 1-2MR2E Zbfiloe BER BB aE ECEX 2ot 5 EiRke] 13:00~ [ 15:30~] X
19)k #EX QR TIRA AEIRE] #B | ®#8 | X
20Kk Fo70H #8 [1530~
21|14 FAERIRZE(~31) [R2IKGFEE AR R K] B3 (5 E) ~14:00|~12:00] X
221 F
23| H v
24] H A B H(AM) §ik B 2i(PM) X
25|k BEENAM) TR B 255k (PM) %
267k 2R (~28 A A ) X
271K X
284 X
29] = <
301 H
31|H

Hul D A2

SCHRIH HEEFSC 12H (9:20~12:20)

)13 2R FEEE B RA S O T 5E

[4H OF721TF]

4/10K)8:30 Hro 7 A%
4/3(4)9:00 ik
4/7(H) ¥ A

= AN
HRiE




